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1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19
37 9 0,4 — — — 10C3+/13 89 0,5 1 29 32 345 2 BCP “°”'”‘°w";;3f:"°""" 80 HE BHARIEHO
37 12 0,2 — — — 10C3 89 0,5 1 28 32 325 2 BCP “"“’”‘3‘:&:‘;:?’"“"" 15 HE BHABJICHO
37 15 0,6 — — — 10C3 89 0,50 1 28 32 325 2 BCP "°“’”‘fu";f“‘;;.°:"°‘"‘ 60 HE BUARICHO
64 2 1.4 — — — 10C3+]13 120 0,50 1 32 44 370 2 BCP "°‘“‘":‘:imfj"°‘“‘ 26 HE BHARIICHO
° 94 3 12 — — — 10C3+/13+Brn 75 0,60 1A 28 32 390 2 BCP "°“‘“Z‘;$jﬂ‘7’:"°‘“" 19 HE BHARIICHO
E 94 9 0,6 — — — 10C3+/13 110 0,60 1 31 44 430 2 BCP "°”‘“r;;:;f:""“"‘ 45 HE BUABNEHO
a 94 10 0,7 — — — 10C3+/(3 80 0,70 1A 28 32 440 2 BCP '“’“““fu":mﬂﬂ‘;;‘."_f""‘"" 16 HE BUSIBNICHO
=
=) 99 7 0,7 — — — 10C3+/13 110 0,60 1A 32 44 460 2 BCp | vowwexe crosbyposux 21 HE BHABAECHO
m KL THUKIB
99 8 49 — — — 10C3+]13 100 0,55 1 30 40 380 2 BCP "°“‘“:J";;";fj"°”“x 21 HE BHSBIICHO
99 9 82 — — — 9C31/13 110 0,60 T 44 400 2 BCp | xowuiexe crosbyponix 24 HE BHSABICHO
. HIKLAHHKIB
99 12 1,9 — — — 10C3+/I3+4w 110 0,60 1A 32 40 460 2 BCP “°”“3‘;$;?"°‘"" 18 HE BUAB/ICHO
106 1 3,0 — — — 8C3(115)2C3(105)+I3| 115 0,50 1 31 44 350 2(e) BCp | ovmaexe crosbypoix 20 HE BHARIICHO
HIKITHUKIB
106 3 0,8 — — — 7C33]03 110 0,50 1 30 48 270 2(e) BCp | xovmaexe croabyposix 32 HE BHABJICHO
{IKLAHUKIB




1 2 3 4 5 6 7 8 9 10 - 12 13 14 15 16 17 18 19
107 1 1,4 — — — 10C3+]I3+Brn 70 0,65 1A 26 28 370 2 BCP "°“'"'f::m““:;?"°""" 1 13 HE BHARIEHO
107 2 32 — — — 9C31 /13 120 0,60 1A 33 48 430 2 BCP "°"’”‘;‘:;z;i”""’"‘ 16 HE BUARICHO
107 3 25 — — — 10C3+/13+Brn 100 0,70 1A 32 40 520 2 BCP "°"““::l.;:;?"°“"" 24 HE BUSBIEHO
107 4 3,0 — — — 8C32/13 120 0,60 1 32 48 390 2 BCP ""“"":}";:;:;?"”"’f 20 HE BHSBIIEHO
121 8 25 — — — 7C32]131 Knr+[lup 63 0,80 1B 28 28 440 2(e) BCP “°‘““:J“;$‘:l:?"°‘"" 27 HE BHABNEHO
127 1 2,9 — — — SC3(89)4C(74)| s+ Baw 89 0,70 1A 30 40 420 2 BCP "°“‘"‘f::;ﬂ:"m?"°""" 15 HE BHSBIEHO
gz 131 1 2,6 — — — 9C31]13 100 0,60 1 27 44 340 2(e) BCP ‘°“"“;‘:‘;fﬂ;“£”’°‘"" 26 HE BHARIEHO
3 131 23 0,8 — — — 10C3+Bn+Oc 90 0,60 1 26 36 340 2(e) BCP "°"‘“;";;3“§"°‘"" 42 HE BHSBCHO
g_, 132 1 2,0 — — — 8C310c1 Bn+Biy 100 0,60 1 28 44 320 2 BCP [ e ”H:;i”""“" 28 HE BUABIIEHO
Lg 165 ] 2,0 — — — 10C3 100 0,55 1 28 40 365 2(e) BCP '“’”’”':;:’Hf;?"“"" 40 HE BASBJIEHO
169 2 16,6 a) 10,0 10,0 9C31 I3 89 0,65 1 29 36 415 2(e) BCP "°”“”‘:;;:"g"°‘"" 10 HE BUSBIIEHO
183 7 1,3 — — — 10C3 69 0,70 1A 27 30 420 2(e) BCP ""“‘”‘:ﬁw"::?‘”""" 23 HE BHSIBNEHO
183 8 1,5 — — — 8C32/13 95 0,60 ] 27 44 320 2(e) BCP ""“’”‘3‘;;3‘;6_;”"°'"" 42 HE BHSBICHO
194 4 16,3 m 12,0 12,0 9C31JIa+JInn 95 0,50 1A 30 40 315 2 BCP "°““"::m‘:,‘;;?"°‘"" 11 He BUSBICHO
195 5 6,3 — — — 10C3+]13 95 0,50 1A 30 40 345 2 BCP ""”’”‘2‘::";’:5:”"‘“" 12 HE BHSREHO
195 9 5,0 — — — 10C3+/Tnn+B3m 80 0,60 1A 30 36 420 2 BCP '“’"“”':J“:m“uf;?""‘"" 18 HE BUSBICHO

Pazom: 94,5

347 2 79 — — — 10C3 60 0,7 1A 25 28 380 2(e) BCP “°“'”‘3‘;$fﬂ?p°""‘ 9 HE BHABNEHO
347 5 8.8 m 8,1 8,1 10C3+]13 86 0,6 1A 29 34 410 2(e) BCP | “°“"““m";z:fg"°""" 8 HE BUSBAEHO
384 7 7,8 1) 6,8 6.8 10C3 60 0,7 1A 24 28 370 2(e) BCP “°“‘“Z‘;"’Hﬁf:"°""‘ 6 He BUSIBIEHO
386 6 1,6 — — — 10C3 67 0,65 1 23 26 335 2(e) BCP "°”"“1":m°’":g"°""‘ 5 He BHSBIEHO
386 7 14 — — — 10C3 95 0,5 1 28 32 310 2(e) BCP "°”"“:;;3;?"°"“" 18 HE BUSBJIEHO
386 8 29 — — — 10C3 68 0,6 1 25 28 330 2(e) BCP | o cromovponin 11 HE BUABIICHO
388 3 177 | 8.8 8,8 10C3 68 0,6 1A 27 30 370 2(e) BCp | ™o crostyposis 12 HE BUABJIEHO
g 390 2 03 — — — 105Ine+bn+C3 54 0,65 1A 22 26 360 2(e) BCP "°"’“:;f“3"m?""‘"" 33 HE BUSBICHO
é 390 3 0,4 — —_ — 108ne+C3+bn 54 0,65 1A 2 26 360 2 (e) BCP “°‘“”‘;";f;;fj"°‘"" 75 HE BHSBIICHO
§ 390 5 0,5 — — — 1051ne+C3 66 0,65 1 24 26 410 2(e) BCP "°"‘”‘:;a‘:';;§_y"°‘"‘ 68 He BUABICHO
= 381 2 8.9 — — — 10C3 58 0,7 1A 23 26 352 2(e) BCP | " crostyponie 12 HE BUABMIEHO
= 394 3 12,0 %)) 0,1 0,1 10C3 70 0,7 1A 26 28 410 2(e) BCP “°”“$‘;$;?”°‘"" 100 HE BHSBICHO
407 2 157 | — — — 10Cs 72 0,6 1A 27 30 360 2(e) BCp | "o crondypon 10 HE BUABMEHO
430 9 1l — — — 10C3 58 0,65 1A 23 28 330 2(e) BCp | "o crosdypone 16 HE BHAB/IEHO
430 10 2,2 — — — 10C3 67 0,65 1A 26 32 370 2(e) BCP | " crontypomx 16 HC BHAB/IEHO
430 1 35 — — - 8C31Bnul Bn+]l3 85 06 1 28 40 310 2(e) BCP | o crontypomx 15 HE BUAB/IEHO
430 12 0.9 — — — 10C3 68 0,63 1A 26 32 385 2(e) BCP | "o crostyponie 1 HE BRARJIEHO
451 2 2,8 — — — 10C3+13 85 05 1A 29 36 330 | 2(9) | BCP [ rorponn 8 HE BUSBIIEHO
460 6 1.5 — — — 10C3+]T3 87 | 055 1A 30 36 370 2(c) BCP | "o rondyponis 30 HE BUARNIEHO




2P z 2 2020 poky

1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 19
460 3 3,4 — — — 9Cs 1113 90 0,55 ] 29 40 375 2(e) BCp | Kovmrexe crosGypomix 10 HE BHABIIGHO
IMIKITHUKIB
465 4 1,9 — — — 9C31 /13 65 0,6 1A 26 30 340 2 BCp | vovmexe croabypomx 15 HE BHABJEHO
WKIAHUKIB
465 7 14,1 — — — 9C31/13 63 0,6 1A 26 28 350 2 BCp | xovmrexe croslyposix 14 HE BUABCHO
IKILAHUKIB
499 7 24 — — — 10C3+]13 90 0,55 1 28 32 350 2 (e) BCp | “onmnexc crorGyposin: 22 HE BHABIEHO
IIKLIHHKIB
499 9 0,5 — — — 7C33]13 66 0,55 1 24 28 235 2(e) BCP ""“‘“fu":;";f:""“"" 22 HE BUARIEHO
499 12 23 — — — 10C3+]13 90 0,6 1 29 32 390 2 (e) BCp | vowmexc croabyposix 21 He BUAB/ICHO
IIKITHWKIB
499 15 2.2 — — — 10C3+/13 90 0,55 1 29 32 360 2(e) BCP "°”“”‘fu":m°:lz;.ﬁj"°““" 24 HE BUSBNEHO
499 18 1,9 — — — 10C3+13 90 0,55 1A 30 36 380 2 (e) BCP "°"'"':;;‘l’;?"°‘“" 16 HE BUABJICHO
500 2 2,9 — — — 10C3+103 93 0,55 1 29 36 365 2(e) BCP "°“'“$‘;f:ﬂ‘:;’.”:"°““‘ 13 HE BUSABJICHO
° 500 7 0,8 — — — 10C3 85 0,55 1 27 32 335 2(e) BCP "°“'"':;:’H::Z"°"“" 8 He BUAB/IEHO
% 500 9 1,6 — — — 10C3 93 0,55 1 28 32 355 2(e) BCP “°“’”‘:}";;‘:;‘.":"°‘"" 18 He BUSBIIEHO
= 500 11 1,4 — — — 10C3 93 0,6 1 28 32 390 2 (e) BCp | Kovmmexe cronGyposmx 19 He BHABACHO
i unignde
$ 500 17 0,7 — — — 9Cal I3 93 0,55 1 29 36 340 2(e) BCP “°““":;fﬂ:;‘.":"°“"" 39 HE BHABIEHO
=
= 500 20 1,1 — — — 9C31 /I3 +4u 93 05 1 29 40 305 2(e) BCP '“’““":;;:3;?""""‘ 32 He BHSBIEHO
519 2 5,8 — — — 10C3(88)+C3(61) 88 0,6 1 28 36 395 2(e) BCP "°“'”'jf;fﬂ;‘;‘.":"°‘"* 8 HE BUABICHO
540 4 1,0 — — — 9C31/13 105 0,5 1 30 40 340 2(e) BCp | kovmwiere crosbyponin: 58 HE BUSBIECHO
IIKIAHUKIB
557 2 1,0 — — — 8C32/13 105 0,5 1A k) 44 300 2 BCp | KoMk crosyponiex 7 HE BUARICHO
KIAHHKIB
565 9 1,5 — — — 10C3+/13 90 0,65 1A 30 36 450 2 BCp | xovmieke crosGyposin: 21 HE BIABJICHO
KL THAKIB
565 10 1,6 — — — 10C3+13 108 0,55 1 29 44 360 2 BCp | ovmaeke crosbyposi 33 HE BUABJICHO
LKITHHKIB
582 7 2.1 — — — 7C3(95)3C3(60)+H3 95 0,55 2 25 32 285 2 BCP ‘°”“:;;Z;§:"°“"‘ 25 HE BHSBIICHO
582 8 2,3 — — — 9C31 /I3 105 0,5 1 28 40 290 2 BCp | ovmreKe croabyponix 13 HE BUARIICHO
IIKILAHKKIB
582 10 2,0 — — — 10C3+13 95 0,65 1 28 36 420 2 BCp | kovmnexe croabyponix 10 HE BUABJICHO
IKIAHHUKIB
582 1 24 — — — 9Cs3l /I3 2 BCp | Komnexe crosGyponinx 12 He BUSBIICHO
UK RHHKIB
Pazom: 154,8
Beworo no JIJIC: 2493
Tupextop BIT HYBill Ykpaiuu "bospcbka JIAC" A.l Kapnyk




